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QUESTION 1

Click the Exhibit button. 

Referring to the security policy shown in the exhibit, which two actions will happen as the packet is processed? (Choose
two.) 

A. It passes unmatched traffic after modifying the DSCP priority. 

B. It marks and passes matched traffic with a high DSCP priority. 

C. It marks and passes matched traffic with a low DSCP priority. 

D. It passes unmatched traffic without modifying DSCP priority. 

Correct Answer: BD 

 

QUESTION 2

Click the Exhibit button. 
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The UTM policy shown in the exhibit has been applied to a security policy on a branch SRX Series device. In this
scenario, which statement is true? 

A. HTTP downloads of ZIP files will be blocked. 

B. FTP downloads of ZIP files will be blocked. 

C. E-mail downloads of ZIP files will be blocked. 

D. ZIP files can be renamed with a new extension to pass through the filter. 

Correct Answer: A 

 

QUESTION 3

Which IDP rule configuration will send an RST to any new session that meets the action criteria? 

A. ip-action block 

B. action close-client-and-server 

C. ip-action close 

D. action drop-connection 

Correct Answer: C 

 

QUESTION 4
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You are configuring transparent mode on an SRX Series device. You must permit IP-based traffic only, and BPDUs
must be restarted to the VLANs from which they originate. 

Which configuration accomplishes these objectives? 

A. bridge { block-non-ip-all; bpdu-vlan-flooding; } 

B. bridge { block-non-ip-all; bypass-non-ip-unicast; no-packet-flooding; } 

C. bridge { bypass-non-ip-unicast; bpdu-vlan-flooding; } 

D. bridge { block-non-ip-all; bypass-non-ip-unicast; bpdu-vlan-flooding; } 

Correct Answer: A 

 

QUESTION 5

What is a function of UTM? 

A. AppFW 

B. IPsec 

C. content filtering 

D. bridge mode 

Correct Answer: C 
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